26720

3030 350

200

3480
350 2660| 150,, 1520 , ,280 4760 280 2100 280 3300 280 3250 280 3300 ,280 3300 850
3905 —a 24401 2130 2505 ‘ 2380 . 1490 000 1510 2140 1510 g0, 1500 , 1115
R \
. g gz g5 iz <% < <8 7 3 2 % %
i 3s 5 g2 8% g5 gE g2 B SRt (1 e g
t B t 7 y_‘—l—'—‘—r~'— . — —rr — BIURO 9,60 m2
‘ *]_ h’_‘_'—’— @ Blala podloga
L] } Wezel sanitarny 821m2
Q W o Magazynek podrgezny (11,69 m2Z
2380 2170 3 . L @ - & zl
B2 E s g]’ J‘_] ::.pndlop i
2050 f-j uro 5
5

Wykladzina"lentex"

o

160700

1150

300,

4080

350

210
Biuro 11,58 m2
3 /] (Al A =
| A& & wlea BIURO 11,70 m3
’ ‘ v ] E ‘Wykladzina"lentex'!
- @ Magazynek podrgezny | 7,43 m2
e 2 - 2o 2 Dl pedlogn
W EEEE S 23,45m2
\\lj e Iu | \\\J = 3300 [ % - L_QJ Bialn podioga
. . | . = |Korvrarz 9,65mz
| — _ (1O [emion
. dermizacja budynku 1 |[Etap | . -
E:J § 1 1 - Terrakota
wsyp (o) r Prysznice 4,50 m2
o oo < EI g LJ 9 i @ Torrakota
S ste] g 0 ‘ 800 0 KOTLOWNIA 20,42 m2
0 . 2050 N [13]
g’) 8 S o ‘1_3[ POSADZKA CEMENT,
5 5:/ = 1 |ARCHIWUM 11,588 m2
1 870 N ij’ Wykndzina"lentes"
s Jadalnia 24,79 m2
| 'g'l] E} Biala podloga
e S I DRSS ) DS R T SN ) (U S ) N N T = [ 1027m2
SR ¥ @ ‘Wykladzina"lentex"
22 2 22 =3 =3 =2 3 = °
I &g &g 52 LR i e
[/ [Waktndzinarientes
’ RAZEM: 249,62 m2
1510 | 2000 660 \ 2330 ) 2140 ) 2700 | 1785 1530 1480 060 ZLTQ
350 4330 280, 2170 280 4690 280 2030 | | 280 4520 280 3300 | 3300 |
43480 |
26720 I S




